ADDITIONAL
HARDWARE

'l() s

1 i o= I
K = -~ -
STANDARD Pl L g

PART PART
HARDWARE CONTENTS NUMBER HARDWARE CONTENTS NUMBER

4-HOLE

| P % FASTENER KIT Four fast TUBE CLAMP Ore tube cl
'f = @pc) M6 x L4mm, (51 AT AHFK 14 SCREW e pecemP cpTCS
f\% for Non-Rotatable mm M5 x 14mm screw
Adapters
i % 4-HOLE LAMINATION
P @ ( FASTENER KIT Four fasteners PLATE 4 fasteners
F o GpaMoxibmm,  (16mm) 4HFK16 ‘ FASTENERKIT  (6mm) LPFK
> for Rotatable Adapters (4pc) M6 x 6mm
ol SUPER SET ,
SCREWS fight Super Set  ¢p ssgy
(8pc) M8 x 14mm crews
PART PART
HARDWARE CONTENTS NUMBER HARDWARE CONTENTS NUMBER
i % 4-HOLE TUBE CLAMP
P @ ( FASTENER KIT Four fasteners SCREW One tube clamp
e (4pc) M5 x 14mm,  (14mm) 4HFK14P M2 x 14mm, screw CPTCsP
> Pediatric Pediatric
SUPER SET
e SCREWS Eight Super Set
? (8pc) M6 x 12mm,  Screws CPSSETP
Pediatric

76  order online at www.college-park.com



